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Vdd

(spice) # .param Vdd=1.8V Ln=0.18u Lp=0.18u LD=0.4u WD=0u Tcyc=2ns Tr=10p Tf=10p
(spice)#VINin0DC 0

(spice) # VVDD Vdd 0 DC 'vdd'

(spice) # VGND Gnd 0 DC 0V

(spice) # .lib mos_b4d.skw TT
(spice) # .include mos_b4.mdl

(spice) # .measure dc Vth find V(in) when V(out)="Vdd/2'

X1 FTHafgirot 7 VERKIK (invl_DC. nsd)

1 @ c:¥Design¥ns—tools¥example¥CHAPTER_9 (MonteCalro) ¥invl DC. nsd DO #HITiX,
pMOSFET D W 2 A ST, @l L EVWMEOLE{bE v I a2 b—va v LET, KPRT
DRSNS T N T 21T O DI B RE S Td, £9 . .param L T,
Wp="agauss (2u, 0. 1u, 1)” *¥8E L ¥ 9, agauss(x, v, z) BEIL. BIEAMFEIEN D HIC, x
ZHRUIMEE LT, 2o, y ERDEHDSAOFENS, GBEEZHWTHEEZRETS2H D
T ZHUTED v ab—ra rEETT LIS, RARDMEN W ITRASHET,
WIZ, .de {TORXRREIZ monte=30 LRtk LET, ZTHICED, ¥I2b—a%30
EREDIRLET, VA BRLIZ, M1OEKROY I 2 b—a VOFETIRREZ R LET,
RFETRT LI, BEIOY I 2 L— 3 T, agauss() T, R DN EMRI TN
D EWBINYET,

U2 K1 FrrhnrpirIal—iarOEFRER (a2 RSy
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*—— Monte Carlo Analysis @  1( 1) 1/ 30 —x
* *
#H agauss (2e-006, 1e-007, 1) => 1.93746e-006
*— Result of .measure —x%

@wp = 1.9374646538e-006

vth = 0. 895675747
* *
*—— Monte Carlo Analysis @ 2( 1) 2/ 30 —x*
* *
#itt agauss (2e-006, 1e-007,1) => 1. 9437e-006
*— Result of .measure —%

@wp = 1.9436971917e-006

vth = 0.8961976378
* *
* *
*—— Monte Carlo Analysis @ 3( 1) 3/ 30 —x*
* *
#H agauss (2e-006, 1e-007, 1) => 2. 12556e-006
*— Result of .measure —%

@wp = 2.1255588913e-006

vth = 0.9108233516
* *
* *
*—— Monte Carlo Analysis @ 4( 1) 4/ 30 —x*
* *
#Hitt agauss (2e-006, 1e-007,1) => 1.99061e—006
*— Result of .measure —x%

@wp = 1.9906072770e-006

vth = 0.900112736
* *

(HRE)
* *
*—— Monte Carlo Analysis : 30( 1) 30/ 30 —x
* *
#H agauss (2e-006, 1e-007, 1) => 2. 05424e-006
*— Result of .measure —x%

@wp = 2.0542373002e-006

vth = 0.9053007523
* *
* *
*—— Monte Carlo Analysis : Finished —%
*—— measured. csv is created. —%
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1 #Sim___|owp vih
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3 2| 193E-06] 0895002 0315
3 3| 2156-06] 0912519
5 4| 204E-06] 0904331 4
5 5| 208E-06 0905785
7 6| 208E-06] 0907183 01 +*
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9 5| 200E-06] 0901027 +*
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1 10| _207E-06] 0908404 0905
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Vdd

(spice) # .param Vdd=1.8V Ln=0.18u Lp=0.18u LD=0.4u WD=0u Td=200p Tcyc=1ns Tr=50p Tf=50p

(spice) # VIN in 0 PULSE (0 'Vdd" 'Td" *Tr' ‘TF 'Teyc/2-Tr-Tf *Teyc)
L=Lp (spice) # VVDD Vdd 0 DC "Vdd'

- (spice) # VGND Gnd 0 DC 0V
w=ap [Spice) # param Wp='agauss(2u0.3u 1]
(spice) # .tran 'Tcyc/100" "Tcyc™5' monte=30

(spice) # .lib mos_bd.skw TT
(spice) # .include mos_b4.mdl

Y=t (spice) # print v(in) v(out) (VGND)
L=Ln

20fF (spice) # .measure tran Tdr trig v(in) val="vdd/2' fall=2 targ v(out) val="Vdd/2' rise=2
(spice) # .measure tran Tdf trig v(in) val="vdd/2' rise=2 targ v(out) val="Vdd/2' fall=2
(spice) # .measure tran Tdelay param="(tdr+tdf)/2"

“Gnd_ Gnd (spice) # .option autostop
i n

X4 Fo7 et (TRANSIENT f247)
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1 |#Sim @wp tdr ol el [

2 1 1.95E-06] 415E-11] 459E-11| 4.37E-11 5.00E-11

3 2 2 20E-06] 3.86E-11] 4 7OE-11| 4.28E-11

4 3 2 BTE-06| 3.36E-11] 458E-11] 417E-11

5 4 212E-06] 3H4E-11] 486E-11) 4.30E-11 ]

4 5 1 B2E-06] 418E-11] 458E-11] 4.38E-11

7 g 1 BOE-D6| 422FE-11] 457E-11] 4.38E-11

8 7 1 BTE-D6| 457E-11] 4 46E-11] 452611

9 8 1 FOE-D6| 452E-11] 4 48E-11] 4 50E-11 450611

10 5 231 E-06| 3.76E-11] 4 75E-11| 4.25E-11

11 10] 1 34E-06] 528E-11] 431 E-11] 4.80E-11

12 11 1 BOE-06] 4.35E-11] 452E-11| 444E-11

13 12 1 FAE-06| 445E-11| 450E-11)| 447E-11

14 13 1 F2E-06] 4ABE11] 449E-11] 448E11 o

15 14 2 OBE-D6| 387E-11] 485E-11] 4.31E-11 E >

16 15 2 07E-06] 389E-11] 4.64E-11] 432E-11 g 400ELL o *tdr

17 18 1 BBE-D6| 4 25E-11] 4 56E-11] 4 40E-11 & * Wi 5

18 17 207E-D6| 3SBE-11] 464E-11] 4.32E-11 t 4

19 18 1 B2E-06] 4.33E-11] 453E-11 443E-11 . telay

20 19 1 74E-06] 446E-11] 449E-11| 448E-11 *

21 20 2H3E-06] 351E-11] 4B88E-11) 4.20E-11

22 21 1 BEE-06| 4.28E11] 455E-11] 441E-11 550511

23 22 1 2GE-D6| SEOF11] 4 27E-11]| 488F11

24 23 1 93E-06] 417E-11] 4 58E-11] 4.38E-11

25 24 1 B1E-D6| 467E-11] 4 44E-11] 455611

26 25 2 02E-D6| 405E-11] 4 62E-11] 4.34E-11

27 26 1.D4E-06] 415E-11| 459E-11| 4.37E-11

28 27 2 3BE-06] 3J0E-11] 4 77E-11| 4.24E-11

29 28 2 25E-06] 381E-11] 4 72E-11) 427611 300811

30 28 1 7BE-06] 4.38E-11] 452E-11] 445611

3 30 7 14F—0R| 392E—11] 487E11] 4 30E—11 1.50E-06 1.75E-06 2.00E-06 2.25E-06 2 50E-06

32 |AVERAGE 1 BGE-06] 421E-11] 459E-11] 440E-11 wp

33 STDEVP | 32831807 44E-12| 143E12] 152612 T
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